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Epreuve de francais N°1 ‘

Un jour, un dimanche de la Quasimodo. Il passait dans la cathédrale devant le lit de bois
ou on plagait les enfants trouvés quand il entendit un groupe de vieilles femmes qui poussaient
des cris d’étonnement. I1 s’approcha et vit un enfant de quatre ou cinq ans si mal fait, si laid, s
difforme que personne n’en voulait. Ce gargon avait un ceil fermé, la téte dans les épaules, les
jambes de travers, I'une plus courte que I’autre, une bosse dans le dos, une autre sur la poitrine,
il était déja fort pour son age, aussi on lui avait attaché bras et jambes. Claude Frollo pensa que
son petit frére, son cher Jehan, aurait pu étre laid et abandonné. Il se promit d’élever le petit
bossu pour ’amour de son frére, pour que Dieu pardonne les fautes que Jehan pourrait
commettre. Déja archidiacre (1), il put garder I’enfant difforme dans la cathédrale et 'y €lever.

Il ’appela Quasimodo.

En 1482, Quasimodo a grandi. Il est devenu le sonneur de cloches de Notre-Dame et il
s’est formé. avec le temps, un lien étroit entre le sonneur et I’église. Orphelin et séparé de tous
par sa laideur, le malheureux enfant s’est habitué a vivre entre les pierres. Notre-Dame a été
pour lui le nid puis la maison, la patrie, le monde, il y vit, il y dort, n’en sort presque jamais ; il

en subit chaque jour la pression mystérieuse.

Victor Hugo, Notre-Dame de Paris

. — o ———

e —

Vocabulaire :

g o i »w@n%xg@f

1- Prétre chargé de I’enseignement des autres prétres.

1) - Coche la bonne réponse :

- Quasimodo est aveugle ... - Quasimodo est difforme W3
. . M . , i
- Quasimodo est orphelin 7 & - Quasimodo est abandonné¢ [ *

@ | Francais .




2) - Frollo décide d’éléver Quasimodo .Pour quelles raisons a-t-il pris cette décision ? l |
Justifie ta réponse en revenant au texte .

Donne I’antonyme de laid # ..........cccccovevvreennene et le synonyme de abandonné =-:----.vcoeeeeeeeenne

2) — Relie les propositions indépendantes pour exprimer successivement une antériorité

et une postériorité .

1) — « Frollo pensa que son petit frére aurait pu &tre laid et abandonné » : I

Frollo vit seul. Il fait la connaissance du petit bossu .

.............................................................................................................................................................

.............................................................................................................................................................

.............................................................................................................................................................

3) Conjugue convenablement les verbes entre parenthéses :

- Chaque fois qu’il vit I’enfant, il le (saluer) I
- Il le prend chez lui avant qu'il NE (BIr€) .....oveeveeeiireiriciiiee et trop tard .
- Dés que Frollo vit le petit bossu, il (QVOIr) .....c.coccevireereeiiiririnirer e pitié de lui.

Tu as fait la connaissance d’un enfant handicapé.

Raconte ce que tu as fait pour le soutenir. | I

. Francais



Epreuve de frangais N°2 ‘

S ]

Pendant la dictée, M. Perboni se mit & marcher entre les pupitres , ayant remarqué un
gar¢on qui avait le visage tout rouge avec des petits boutons, il interrompit sa dictée, prit le
visage de I’éléve entre ses mains, le regarda et lui demanda comment il se sentait et posa sa

main sur son front pour sentir s’il était chaud.

Pendant ce temps, un gargon qui était derriére lui monta sur son pupitre et se mit a jouer le
pantin . L’instituteur se retourna d’un coup et aussitot le gargon se rassit et resta la téte baissée
en attendant sa punition. L’instituteur posa sa main sur la téte du garcon et lui dit : « Ne fais

jamais plus ¢a », rien d’autre. Il retourna & son bureau et poursuivit sa legon.

A la fin de la dictée, il nous regarda pendant un moment et il dit, tout lentement, de sa

voix forte mais gentille : « Ecoutez. On doit passer une année ensemble. Tachons de bien la

faire passer. Faites vos devoirs et soyez sages. Moi, je n’ai pas de famille : ma famille ¢’est vous.»‘

Edmondo DE AMICIS, Le Livre caeur, 1886. '

—— ——————

Vocabulaire : =

1 Pupitre : table d’écolier. 3 Jouer le pantin : faire le clown.
2 interrompit : arréta. 4 Téchons : essayons.

1) Ecris vrai ou faux puis reléve du texte une justification pour la réponse correcte .

- Le narrateur parle de son surveillant .

e b R e 5

%

- La scéne se passe dans la cour de I’école . : ,

T A
e

- Le narrateur parle de son maitre de francais .




1) «Tachons de bien la faire passer». Donne un autre sens du verbe souligné :

i T (1) 1 LT PR

2) Enrichis les groupes nominaux soulignés en respectant ce qui est entre ( )

- les €leves, (adj appos€)  .evverceeeeneennn ne suivent pas M. Perboni.
- la phrase ( prop. sub. relative)  ...coevieiiiii m’a beaucoup touchée.
- le geste (Complément de nom)  ...oovcvvvvveieernvneeninnnenn fait peur a tous les éléves.

3) Souligne P’attribut du sujet puis donne sa classe grammaticale :

* M. Perboni parait trés sévere. * Son désir est de ’aimer.

4) Conjugue les verbes entre ( ) a ’imparfait ou au plus que parfait :

Les €leves (s€ taire)  ...oocceveveercveenncrnncnnne aprés que M. Perbonie les (gronder) ...

Illeur (faire) ..coooovevveeeeieeeene, une dictée chaque jour.

Tu gardes un souvenir agréable d’un professeur qui t’a beaucoup marqué.

Raconte le souvenir en faisant le portrait de ce professeur .

- = - o -':—- - -wx_;:;..

@ i . Francais



Epreuve de frangais N°3

Quittant son fauteuil, il revint s’asseoir devant son piano et ses doigts coururent de nouveau
sur les touches. Oubliant ses soucis, il poursuivit son jeu d’artiste ou il mettait son dme.
Cependant, quand, la derniére note envolée, il se retourna vers nous, son visage avait gardé

quelque chose d’inquiet.

Ai1dé par Mady, il replaga la housse sur le précieux instrument et on se remit & parler, mais le
soir commengait a tomber. Je devais rentrer garder mon petit frére pendant que maman irait
faire une course. L’aveugle nous remercia avec chaleur de lui avoir fait I’auméne d’une
visite ; et, sans arriére-pensée cette fois, mes camarades promirent de revenir. Avant de nous

laisser repartir, il caressa encore longuement Kafi :

- Mon bon chien ! c’est vrai, tu me rappelles le pauvre briquet. Quand tu te frottes

contre mes jambes, je crois I’avoir retrouvé. Tu reviendras, toi aussi, n’est-ce pas ?

Nous descendimes I’escalier déja rempli d’ombre. En bas, la cour était déserte. Bouleversés
par cette visite, nous arrivimes au bas de la montée Saint-Barthélemy sans avoir échangé un

mot. Mais tout a coup, Corget s’arréta.

- Vous aviez raison, Tidou et Mady, on ne peut pas I’abandonner cet aveugle.
Je ne sais s’il a raison de s’inquiéter ; pour moi, il se fait des idées. Peu importe, nous
devons I’aider. Je suis sfir qu’avec Kafi il se sentirait protégé, moins seul. Etes-vous

d’accord ?

- D’accord ! répondit d’une seule voix la bande des compagnons.

Paul-Jacques Bonzon, Les six compagnons et le piano a queue

,1964, Hachette

— e —
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1) L’aveugle est-il un vrai pianiste ? Relevez deux indices dans le premier paragraphe I
pour justifier votre réponse

1) Complétez selon le modéle :
+¢ Un piano — Un pianiste
@ UNVIOION = ...
9 UNE GUILATE —> L.\ttt eer e e eaaeaen
@ UNETIGE = oo

X U5 WY e8] 00 [0 ¢ R O '

2) Transformez le complément circonstanciel de but en une subordonnée circonstancielle
de but :

Les enfants aident le pianiste aveugle pour le rendre heureux.

..........................................................................................

I R R I I R R I I R R I R R R R N I RN

3) Conjuguez convenablement les verbes () :
o S’il (apprendre) ....................... a jouer du piano, il aurait di amuser bien son
public.
e Les enfants aimeraient cette musique, s’ils  (visiter) ......................
fréquemment le pianiste.

Frant;is



4) Dans le paragraphe suivant, transformez les adjectifs soulignés en adverbes en
« ment »
Quand les enfants ont découvert la beauté de la musique ; ils décident de visiter (régulier)
I’aveugle et de jour en jour ils ont aimé (intense)..........ccceerseerenee CEL

...................

instrument. C’est ainsi que leur jeu s’est amélioré (net)..........ccee.....  Un jour, ils
deviendront (certain)............ccceeee... de vrais musiciens.

Vous avez assisté a un spectacle donné par votre star de chanson la plus préférée.

Décrivez cette star en insistant sur sa maniére de chanter et sur I’effet de 1a musique sur le

public.




Epreuve de francais N°4

Phileas Fogg fait le pari de réaliser le tour du monde en quatre-vingts jours. Quand il arrive
aux Etats-Unis d'Amérique, les Indiens attaquent le train qu'il a pris pour traverser le pays.
Cette attaque du train pourrait retarder son voyage et lui faire perdre son pari. Cependant,
son domestique Passepartout intervient.

Au bout de dix minutes, le voisin de Mr. Fogg regoit une balle dans le ventre ; il tombe sur
les genoux. Avant de mourir, il a la force de tirer Mr. Fogg par la veste et il lui crie : « La
gare ! 4 deux miles 1 d’ici, la gare ! il y a des soldats. Si le train ne s’arréte pas avant cing
minutes, vous étes perdus. Les mécaniciens sont morts sans doute. 11 faut tout faire pour

arréter le train.

- Il s’arrétera ! dit Phileas Fogg en se levant pour courir vers la locomotive.

- Restez, monsieur, lui crie Passepartout, je vais m’en occuper. »

Sur les toits, les Peaux-Rouges tirent des coups de fusil a I’intérieur des wagons par les trous
des planches. Bient6t, quand tous les voyageurs seront tués ou blessés, ils seront les maitres |
du train et ils pourront prendre tout ce qu’il y a dedans. Leur chef est resté sur la locomotive,
parce qu’il veut passer trés vite devant la prochaine gare et essayer d’arréter la machine
seulement plusieurs kilométres plus loin.

Phileas Fogg n’a pas eu le temps d’empécher le courageux Passepartout de s’élancer du coin
ou il était caché ; les balles volent au-dessus de sa téte, mais il saute, en se baissant, d’un
blanc 4 I’autre. Puis il sort et il passe sous les wagons en accrochant ses pieds et ses mains a
tout ce qu’il trouve. De cette fagon, il avance, comme une mouche sur un plafond. Il arrive a
la locomotive et il monte dessus. D’un formidable coup de poing il écrase le chef des Peaux-

Rouges. Il réussit & arréter la machine a moins de cent métres de la gare.

Les soldats, qui entendent depuis un quart d’heure les coups de fusil, courent vers le train et

tirent sur les Peaux-Rouges. Ceux-ci comprennent alors qu’ils n’ont plus aucune chance de

gagner et se sauvent en criant. Jules VERNE, Le Tour du monde en 80 jours

R
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1/ Qui a attaqué les voyageurs du train ? Justifie ta réponse par une phrase du texte :

.......................................................................................................................

2/ Qui intervient lors de ce danger ? Réussit-il ? Justifie ta réponse en relevant un indice
textuel.

1/ Remplace le GN souligné par le P. Personnel approprié

+» Passepartout a tué les Peaux-Rouges.

...................................................................................................................

...................................................................................................................

2/ Transforme la phrase active en phrase passive et inversement :

+* Les assaillants ont abandonné le train.

..................................................................................................................

..................................................................................................................

3/ Conjugue au futur Simple ou au futur antérieur selon le cas.

- Quand les soldats (arriver) ........................ les Peaux-Rouges (attaquer)
.................... tous les voyageurs.
- Il (avoir) .............. un prix apres qu’il(acheven) ................ sa mission avec succes.

4/ Compléte par quand / quant / qu’en :
o Les Indiens se sauvent..............coceenunen la police arrive.

e Il ne pourrait les sauver....................... faisant cet acte.

e M. Fogg voit que c’est un beau geste............... a Passepartout, il voit que c’est
devoir.
e Ilintervient................ il ressent le danger.

Tuasvuunfilm d’action qui relate I’histoire d’un exploit. Dans une quinzaine de lignes,
relate les événements de cet acte héroique.

@ . ‘ O Francais




'Epreuve de francais N°5

Pierre, un jeune homme de vingt ans, est camionneur. Chaque matin, sa mére se léve de
bonne heure pour lui préparer le petit déjeuner.

- Je te revois quand ?

- Comme d’habitude, aprés demain soir. Un aller-retour Lyon avec dodo dans le bahut
en compagnie de I’ami Gaston.

-« Comme d’habitude, murmure-t-elle pour elle seule. Moi, je ne m’habitue pas. Enfin
puisque tu as I’air d’aimer ¢a ... »

I1 hausse les épaules.
- Faut bien !

L’ombre monumentale du semi-remorque se détachait sur 1’horizon que 1’aube blanchissait.
Pierre en fit lentement le tour. Chaque matin, ¢’était pareil, ses retrouvailles aprés la nuit
avec son énorme joujou lui faisaient chaud au cceur. Il ne I’aurait jamais avoué a sa vieille,
mais au fond il aurait préféré y faire son lit et y dormir. On avait beau tout verrouiller, le
bahut était si mal défendu dans sa démesure contre les agressions de toute sorte, chocs,
démontages, vols a la roulotte ! le vol du véhicule lui-méme avec tout son fret' n’était pas
impossible, cela s’était vu malgré I’invraisemblance.

Cette fois encore pourtant tout paraissait en ordre, mais il faudrait procéder au plus t6t a un
lavage. Pierre appuya une petit échelle a la calandre® et entreprit de rincer le vaste pare-
brise bombé. Le pare-brise, c’est la conscience du véhicule. Tout le reste peut a la rigueur
rester boueux® et poussiéreux. Le pare-brise, lui, doit étre rigoureusement impeccable.

Ensuite, il s’agenouilld presque religieusement devant les phrases pour les essuyer. Il
souffle sur les verres et y passe un chiffon blanc avec le soin et la tendresse d’une mére
débarbouillant le visage de son enfant. Puis, la petite échelle ayant repris sa place contre les
ridelles®, il escalade la cabine, se jette sur le si¢ge et appuie sur le démarreur.

Michel TOURNIER, l’aire du Muguet

I- Cargaison, chargement. 4 ¢, mettre i genoux.

2- Partie avant du véhicule. 5. pursies en bois ou en fer servant a maintenir le chargement

3- Couvert de boue. sur le camion.

0 | L Frangalis



3/ Est-ce que la meére de Pierre apprécie le métier qu’exerce son fils ? Justifie ta réponse
en relevant une phrase du texte.

............................................................................................................................................................

4/ A qui le camionneur est compar¢ vers la fin du texte ? Pourquoi ?

1/ Trouve le métier correspondant aux verbes : jardiner / Tisser

2/ Exprime successivement une cause et une conséquence : I

» La meére de Pierre est triste. Son fils la quitte.

3/ Conjugue au subjonctif présent les verbes entre ( ) :

% Pensez-vous que Pierre (&tre)............c........e. a I’heure ?

«» C’est nécessaire qu’il (accomplir )................... sa tache.

4/ Compléte par « Tout » que tu accorderas :

® i les matins, Pierre se léve tot.
e Ilresta...........eenniee. effrayé en trouvant le pare-brise cassé.
L est bon ; il peut démarrer.

heureuse de le voir travailler.

Dans un court paragraphe argumentatif, dis si tu veux exercer le métier de Pierre.

@ ' : , Francais



Epreuve de frangais :concours 2015

L’inconnu avait peut-étre seize ans. C’était un grand gaillard maigre, les cheveux en
broussaille, des yeux sombres et vifs, bruni par le soleil, poussiéreux, les pieds nus. Il tenait
d’une main un petit baluchon' qui devait renfermer tout son bien, et de I’autre, enveloppé
dans un grand foulard rouge délavé et passé, il portait un violon.

- Salut ! dit-il.

Les enfants le dévisagérent avec surprise.

- Bonjour, monsieur, dirent-ils poliment.

- Est-ce que vos parents sont 13 ? Je viens demander du travail. Je sais tout faire,
rempailler les chaises, rétamer les casseroles, réparer la porcelaine, battre a la
machine, jardiner, peindre, coller. Je sais aussi jouer du violon, distraire les grandes et
les petites personnes, faire des tours de cartes, de magie noire, de magie
blanche, guérir les maux de dents, ramoner les cheminées, danser, jouer la comédie.
J’ai beaucoup marché. 1l fait trés chaud. Je voudrais bien manger et trouver du travail.

- Oh ! monsieur, s’écria Hermine, jouez-nous un petit air sur votre violon !

- Pour vous taire plaisir, je vais vous jouer une valse de Bohéme.

Il posa son baluchon, sortit son violon, et en jouant, avanga avec les enfants vers la maison.
Il penchait la téte sur son violon, et quand il eut préludé?, il se fit dans le parc un grand
silence. Les oiseaux cessérent de se chamailler, les grillons s’arréterent de crisser, 1’eau des
jets d’eau retomba d’elle-méme, les gouttes caresserent sans faire de bruit la surface des
bassins, et les enfants, dans 1’allée, marchérent sur la pointe des pieds.

C’était une musique triste et joyeuse, douce comme la pluie de Juin, brillante comme

le soleil a son lever, imprévue comme un feu d’artifice, une musique qu’on aurait écoutee
pendant des jours et des nuits, sans songer & autre chose, sans's’endormir ni s’éveiller, une
musique sauvage et insinuante’, bondissante* et paisible. Hermine, Eric et Jacques retinrent
leur souffle, et sur 1’archet du violoneux un rossignol vint se poser.

Claude ROY, La maison qui s’envole, Junior, 1977.

1- Baluchon : tissu de forme carrée noué aux quatre coins servant @ emporter vétements, objets...
2- Préluder : commencer a jouer les premiéres notes de musique.

3- Insinuante : douce, tendre.
4- Bondissante : qui s’éléve brusquement.

@ Francais



1) a- Coche la bonne réponse :

L’inconnu est un jeune homme qui se déplace pour :

- Rejoindre ses parents. 2
- Donner un spectacle programmé. £ %
- Trouver du travail. &

e

2) Le jeune homme est capable d’exercer plusieurs activités : rempailler les chaises — jouer
du violon — faire des tours de cartes — rétamer les casseroles — réparer la porcelaine — danser
— jouer la comédie — ramoner les cheminées.

Classe ces activités dans le tableau suivant : «

I Activités artistiques

----------------------------------------------------------------

Activités artisanales

----------------------------------------------------------------

|
g
B
b) Justifie ta réponse par une phrase du texte : ......c.cooiniiiiiii E
B
i
g
2

3) Quel effet 1a valse de Bohéme jouée par ’inconnu a-t-elle sur Hermine, Eric et Jacques et
sur la nature ?

.............................................................................................................................................................

*Justifie ta réponse par un indice du texte se rapportant aux enfants et par un autre se I
rapportant a la nature. ‘

4) Dans le dernier paragraphe, comment la musique est-elle présentée ? Justifie ta réponse
par deux indices du texte. E

1) Les grillons s’arrétérent de crisser. !
a) Reléve dans I’avant-dernier paragraphe du texte le synonyme du verbe souligné.

- Frangais



2) Mets les phrases suivantes a la forme passive :
a) Les enfants I’on dévisagé avec surprise.

3) Selon le cas, conjugue les verbes entre parenthéses :

a) au futur simple ou au futur antérieur :

- Quand I’'inconnu  (préparer) ........... son violon, il  (se mettre) ........... a jouer.

b) a Pimparfait ou au plus-que parfait :

- L’inconnu (avoir) ............ a la main le petit baluchon qu’il (hériter) ............ de sa

Grand-mére.

4) Compléte par « tout » que tu accorderas convenablement.

s’arrétérent de faire du bruit et les enfants, ......... émus, retinrent leur souffle. ..........furent

enchantés.

Quand I’inconnu commenga a jouer......... pres des arbres, ............ les oiseaux lfj
Tu veux apprendre a jouer d’un instrument pour devenir musicien. Mais ton pére n’est pas I
d’accord car il considére qu’il ne s’agit pas d’un vrai métier.

Raconte ce qui s’est passé en rapportant le dialogue que tu as eu avec lui pour justifier ton I

choix.




. Epreuve de francais :concours 2016

Le nouveau professeur fit I’appel.

Julien étant le premier sur la liste, puisque son nom de famille était Abalain, il leva la main
et, aussitot, Vairon éclata de rire :

« C’est pas Abalain, c’est chocolat. »

Au lieu de se facher de cette intrusion, le professeur demanda a I’intéresse :

« Pourquoi vous surnomme-t-on Chocolat ? »

Julien allait répondre que c’était parce que son pére possédait la plus grosse chocolaterie de
la région quand Vairon le devanga :

« C’est parce que son pére 1’a ramené du Brésil dans une cargaison de chocolat. »

Julien haussa les épaules avec agacement en croyant a une blague. C’est alors que Vairon
ajouta :

« C’est un enfant adopté, un petit Brésilien miséreux qu’on a trouvé en creusant la terre pour
extraire le chocolat. »

Le professeur entreprit d’expliquer que le chocolat ne se trouvait pas dans la terre, mais
Julien n’écoutait plus. Sans savoir pourquoi, il venait d’avoir 1’affreuse révélation' que les
paroles de Vairon n’étaient pas des mots en ’air. Il aurait di protester, hurler son
indignation . Il n’y parvenait pas. Un mur s’était subitement dressé, un mur qui I’encerclait,
étouffait se cris, un mur sur lequel allait se cogner le moindre argument qu’il tenait de
formuler. Et, comme un boomerang?, il lui revenait en plein cceur, lui provoquant d’affreuses
blessures.

Le professeur continuait & parler sans se rendre compte de rien. Julien avait I’impression de
ne plus exister, I’impression que tout ce qu’il voyait autour de lui n’était qu’illusion*. La
sueur commenga a lui perler au front. Il se sentit mal, trés mal. Sa vue se brouilla.

« M’sieur, cria une voix, y a Julien qui est tombé dans les pommes’! »

Quand Julien reprit conscience, il se sentait plein d’un désespoir effroyable et mit quelques

secondes a s’en rappeler les raisons.|...]

« Il se réveille », chuchota une voix a ses cote€s.

C’est seulement a cet instant que Julien réalisa qu’il se trouvait dans la petite salle de
I’infirmerie du collége, et que la personne penchée sur lui était la sceur infirmiere.

Evelyne BRISOU-PELLEN, deux graines de cacao. Livre de poche 2001.

1-Révélation : déclaration, propos, information. 2-Indignation : colére
3- Boomerang : arme qu’on lance a la main 4- Illusion : fausse apparence, erreur, mensonge.
et qui revient a son point de départ.
5- Tomber dans les pommes : s’évanouir, perdre connaissance.

Francais



1) Quand le professeur s'adresse a Julien Abalain, comment Vairon réagit-il ? Justifiez votre I
réponse par deux indices précis.

.............................................................................................................................................................

.............................................................................................................................................................

2) Quelles informations Vairon fournit-il 4 propos du surnom de Julien ? Justifiez votre l‘z;
réponse par deux indices précis.

.............................................................................................................................................................

3) Suite a la révélation faite par Vairon, Julien éprouve différents sentiments. l

Citez deux sentiments et justifiez votre réponse.

.............................................................................................................................................................

4. Par quoi se caractérise I’état physique de Julien a la fin du texte ? Relevez deux indices l

différents qui justifient votre réponse.

1) Remplacez ce qui est souligné dans la phrase suivante par des mots ou des expressions de I
sens équivalents.

« Julien haussa les épaules avec agacement en croyant a une blague. » I
Julien .............. les épaules ................ En croyant a une blague.

2) Transformez chacune des phrases suivantes a la forme indiquée entre parentheses.

- Un mur qui s’était subitement dressé 1’encerclait. (forme passive) !

- Cet enfant a été ramené du Brésil dans une cargaison de chocolat. (forme active)

Y T Francals




3) Enrichissez les groupes nominaux soulignés selon les indications proposées :

Un mur (adjectif qualificatif épithéte )...................... s’était subitement dressé autour de

’enfant (proposition relative introduire par qui)

Unmur...... ......onee (Groupe prépositionnel complément de nom)  étouffait ses cris.

4) Conjuguez les verbes a Pinfinitif au mode et au temps qui conviennent.

Quand Vairon éclata de rire et (hurler)............ « C’est pas Abalain, c’est Chocolat. »,
Julien (rougir) ............. , (raidir) .......... et (s’évanouir) ...... ....... Ce (étre)........
affreuse révélation qui, comme un boomerang, lui (arracher) .......... le ceeur.

Vous avez vécu une injustice pareille a celle dont Julien Abalain a souffert(punition non
méritée, moquerie, comportement violent...).

Faites le récit de cette expérience douloureuse en décrivant les sentiments que vous avez
éprouves.

Francais




Epreuve de frangais :concours 2017

Devenu tres attentif aux battements de son cceur et a son degré de fatigue, Emile aimerait
comprendre jusqu’ou va son endurance'.Il continue de s’entrainer tout 1’automne, tout
I’hiver, et pas seulement au stade. Dans la rue, sur les routes, en forét, dans les champs,

partout au point de se faire mal et par n’importe quel temps, il court moins comme un

homme que comme une de ces bétes plus douées que nous pour ¢a. Comme le chemin de
chez lui 4 I’usine passe par une allée de peupliers?, il tente un nouveau truc pour voir. Le
premier jour, il retient son souffle en marchant jusqu’au quatriéme peuplier, les deux jours
suivants jusqu’au cinquiéme, puis au sixiéme, et ainsi de suite tous les deux jours jusqu’a ce
qu’il parvienne enfin au bout de 1’allée sans respirer. Mais une fois qu’il y est arrivé, il
s’évanouit. Il s’évanouit une autre fois en prenant une douche froide aprés douze lignes
droites exécutées a toute vitesse. Il ne recommencera plus ces excentricités® mais tout ¢a

1’intéresse. I1 veut toujours savoir jusqu’otl.

C’est ainsi qu’il se retrouve en train de battre un record, a Zlin, ou il devient le premier de
son pays a franchir cinq mille métres en un quart d’heure. On s’exclame, on s’exalte, on

prévient la presse nationale mais les types de Prague n’y croient pas.

Ils pensent d’abord qu’il s’agit d’une erreur de téléscripteur?, puis que les chronomeétres de

Zlin sont truqués5.[. ..] N’empéche, aprés avoir encore amélioré son quart d’heure dans son

bled, Emile vient courir quelque temps plus tard deux mille métres & Prague méme et il y

bat un nouveau record, son troisiéme de 1’année.

Jean ECHENOZ, Courir. Les Editions de minuit. 2008.

1- Endurance : capacité a résister a la douleur et a la fatigue
2- Peuplier : arbre des régions humides. 4- Téléscripteur : tableau d’affichage des résultats.
3- Excentricité : comportement bizarre, particularité, folie.

5- Truqué : falsifié, modifié afin de tromper.
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1) a- Cochez la bonne réponse.
Emile s’entraine toujours et partout pour :

* se faire plaisir.
* tester son endurance.

* intégrer une équipe de football. m

b- Justifiez votre réponse par une phrase du texte :

2) Citez deux actions qui montrent qu’Emile fait des efforts extraordinaires dans ses
entrainements.

..........................................................................................................................................................

..........................................................................................................................................................

3) En peu de temps, Emile a réalisé plusieurs exploits. I

a- lesquels ? Justifiez votre réponse par deux phrases du texte.

1) Construisez a partir des propositions indépendantes proposées des phrases complexes

par subordination selon les indications entre parenthéses :

¢ Emile a fourni des efforts considérables. Il a amélioré ses performances. (expression
de la cause)

¢ Emile s’entraine sans répit. Le comité sportif reconnait son talent et ses exploits. I
(expression du but)

2) Complétez les propositions suivantes en leur ajoutant des compléments circonstanciels de !
temps conformément aux indications données entre parenthéses.
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(Gérondif) .................... Emile devient le premier athléte de son pays a franchir cing
mille métres en un quart d’heure.

Emile excelle en courant plus vite que son ombre, (Proposition subordonnée) ................

3) Conjuguez les verbes entre parenthéses aux modes et aux temps qui conviennent.

a) Emile souhaite que cet exploit sportif lui (ouvrir) ................. la voie de la réussite
mondiale pour que les habitants de Zlin (&tre) ....... ..... fiers de lui.

b) Aprés un tel exploit, tout le monde espere que ce champion (battre) ....... d’autres
records et (améliorer) ....... ses performances dans d’autres compétitions.

4) Dans le paragraphe suivant, transformez les adjectifs soulignés en adverbes en — ment.

Quand Emile a découvert les plaisirs du sport, il s’est mis a courir (régulier) ................ et de
plus en plus (intense) .......... tout en surveillant les battements de son cceur. C’est ainsi que
ses performances se sont (constant) ........... et (net) .......... améliorées.

A P’occasion d’une manifestation sportive, vous avez assisté & un exploit remarquable.

Faites le récit de cet événement en décrivant ce que vous aves apprécié.




EVALUATION TEST N 1

t ' ' —

(1)Growing up in a village in north-eastern Tunisia, Ahlam Ben Ahmad had to walk up to
4km to reach a hospital, buy food or attend school. She often got sick from the long
journey, and dropped out of school two years before graduation. “I woke up at Sam
every day, carried my sick brother on my back and walked to school to reach it by
seven,” she says. :

(2)Fifteen years after Ben Ahmad, now 30, dropped out of school, the government has not
improved the roads near her home. It still takes her several hours to travel from her
hometown of Boucha to Kelibia, the nearest city. In a private vehicle, the same journey
would take just 30 minutes. Like Ben Ahmad, many women in rural Tunisia face long
trips to access essential services, which are usually located in urban centres.

(3)Ben Ahmad now works on the Amal programme, which aims to increase rural women’s

awareness of their rights. Ben Ahmad and other women say they want easier and more
access to social services, and better roads between villages and urban centres. Most
importantly, they want to establish a committee of local men and women to follow up on
the implementation of development projects in five of Tunisia’s regions: Kef, Kasserine,
Sousse, Ben Arous and Kelibia.

(4) “We want action,” says Ben Ahmad. “We have been silent for a long time, today we
want to act. I want my children and grandchildren to go to school without getting sick. I
want them to go out on weekends, and join clubs and enjoy their hobbies.”

Adapted from: http://www.theguardian.com/ international

e e —

READING COMPREHENSION |

1. Circle the suitable option :

Urban women in Tunisia

The article deals with Cooperation and voluntary work.

Rural women in Tunisia.
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2. Say whether these statements are True or False

* Ahlem left school because she disliked it.
* Amal Programme aims at improving rural women’s conditions. :

*In rural areas many essential services are available. i T

3. Find out words meaning the same as:
necessary (paragraph 2): .........ccoviiiiiiiiiiniiiiiiiieena
found (paragraph 3): ...

4. What do the underlined words in the text refer to?

it (paragraph 1): ...
they (paragraph3): ......coovevviiiiiiiiiiiiiiieeeiin

1. Circle the right alternative :

Mary Sutherland is an extraordinary young woman. She ran away from home and school
and fought against serious depression, (lonely — loneliness - alome) and despair. When
she was 17 , she (found — founded - founds) the SAFE club with three other volunteers
(which - where — who) cooperate to provide services (with — to — for) the homeless :
from toiletries ,weekends away to clothing , hot food , advice love and support. The walls
of ( she — hers — her) office are covered with photographs of the happy faces she and her
colleagues have managed to light up. They believe that the (small - smallest— smaller )
actions can make a difference in someone’s life.

2. Fill in the blanks with 5 words from the list below

[pee——

. . g AR e o b et e e :
7 experience — voluntary — most — volunteer — me -—realise *
: o gy i i LR i S N S et R,

My name is Steve. 1 spent three weeks working as a ......................oceel ina
classroom of five — year — old kids within an orphanage in South Africa. It was the
amazing experience of my entire life .Because of that trip , I came

to ......ooevvvveviiiiiiinee... how big the world is, how enriching it is to live among a
different culture .Today , over a month after I returned, I think of
1) P and especially the people I met there. It made ..........coccovveuneeen. !

feel things I haven’t experienced before, and I have found out new things within me.
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3) . Match sentences parts in A with their corresponding ones in B to get a coherent
paragraph. There’s an extra part in B.

B - - ]

A B

a. in 1997 in a car crash.

1. Lady Diana, Princess of Wales was born
2. She got married to b. her famous all over the world.
3. Her charitable work made ¢ \.;vas @ Vo}unteer.

d. in 1961 in England.

4, She raised funds to help poor children
C . ) e. Prince Charles and had two
5. She died in Paris )
children

f. and victims of AIDS.

Last week , you visited an orphanage with your classmates to help the needy children and g
put a smile on their faces. Write an e-mail to your cousin to tell him what you did before
and during your visit. The following hints may help you : Collected money for the
orphans / played with them / comforted them / donated presents (chocolate, sweets,
toys ) - made their faces light up.




EVALUATION TEST N 2

Like most of my friends, I get about 30 pounds a month as pocket money. This may
seem a lot, but in practise, it isn’t too much, given all the things a teenager needs. And
then it is not always easy to get money. I don’t know why, but on the first Saturday of the
month, the day when my parents give me the money, parents don’t have any cash! It
| seems strange that my father is always able to find the money to buy things at the
supermarket but can’t find £30 to pay me.

Of course, when they give you pocket money, you have to listen to few stories like
“When I was your age w used to ...” Stories about when they were your age, I don’t
know how many years ago, they got £1 for all the month. Any way, the first thing I do
when [ get the money is to forget about the family birthdays that month. You and your
family, must understand that if you have to buy birthday presents with your pocket
money, you won’t have any money.

What do I purchase with my pocket money? Well, I think that most of the money goes
on music. Good CDs can cost up to 17 pounds. Then, of course I go out to fast food
restaurants, cinemas and sometimes discos. But you don’t need to be Einstein to realize
that if you‘ve got only 30 pounds a month, you don’t go out very often.

Today’s teenagers may seem very rich, but in reality they aren’t. It’s only parents who
have no idea about that life is really expensive, who think we’ve got a lot of money but in
reality we are not paid too much, but too little. Instead of 30 pounds, we should get 200
pounds a month. Unfortunately my parents don’t agree with me.

READING COMPREHENSION :

B
B

1. Tick (V) the correct alternative.

a- too little pocket money

The speaker is complaining about b- too much pbcket money

c- no pocket money
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2. These statements are false, Correct them.
a.The speaker gets 200 pounds as pocket money

b. At the beginning of the month parents have enough money to give their children pocket
money. '

...........................................................................................................

3. Answer the following questions.
a. How much pocket money did the parents used to have?

............................................................................................................
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.......................................................................

4 .Refer back to the text and find out an expression having the same meanings:

To buy (paragraph 3): ...

,'Iz.

1) Fill in the blanks with the right alternative :

I'm a fifteen-year old girl. I have a ! e l

O e family. It’s composed r_l_ Large- extended-
@ me and my mother. Mum and nuclear | I
dadare ®...........ooiiiiii after long conflicts. I 7- of — for- at
live with mum in a very small house in London. 3_ married- divorced-

. But,in the coming months I don’t know where because ‘ single

. we are always on the “.. ... I 4- House- worf(- move
dream of a wonderful life like all children. Although I'! ‘ 5. Like -as - than ‘
have parents, my life is as miserable L — —— ‘

|
{
|
O e orphans ! |

2) Circle the right option :

Peter gets his pocket money from his father every Friday. However, his financial
situation is (better- worst- worse) than his sister who gets less than him. Sally (spends-
saves- gets) her money to purchase interesting things whereas Peter spends all of them on
videogames and (savings- budget- extras). One day, his father decided to reduce his

allowance because of his (overspending- conflict- purse) . Now, Peter is a banker. He
knows very well that money is (hard-earning- hard-earned - hard earn) .
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3)Put the bracketed words in the right tense or form :

Most of my friends complain about their parents, but I get on fine with mine. They do

make some rules, but at least we can ( to discuss ) ........................... things — they
have the final say, but they always (to listen ) ........................ to my opinion first. I

guess all parents worry about what their teenage kids get up to when they’re not around,
but my parents know I'm not ( complete) ........................... irresponsible, so they
give me some freedom .Maybe it helps that I'm the( young) ...................oeveeen. in the
family. My brothers and sisters say Mum and Dad were (strict) ........................ with

them when they were my age, but they’ve become (much) ..................... relaxed since
then!

You don’t get on well with your parents. Write a letter to the editor of a magazine and tell him

about you relationship with them.




EVALUATION TEST N 3 ‘

1. I’'m a 15-year-old boy living in London but my real home is Kenya. I used to live with
grandparents there but I came to England three years ago to live with my mother to
study. My father died four years ago. I never met him in my life. My mother left me
with her parents when I was a baby and I didn’t see her again until I came to the UK.

2. 1 was happy living with my grandparents and I’m not happy living with my mother.
The first two or three months were ok but after that life has got harder and harder. She
treats me like a kid. She thinks she’s always right and I’'m wrong. If something needs
to be done it’s her way.

3. I'm fed up with all the housework. I’m the one who cleans all the house every week
and cleans the dishes after every meal. Nobody helps me at all.

4. She controls all the money. I mean she took my credit card and everything, and
doesn’t give me any pocket money. I ‘m really upset. I just want to leave the house.

5. This house is like the prison for me. I sleep on the sofa in the living room and don’t
even have any privacy. I'm sick and tired of all the complaints but I don’t know what
I can do. I’'m quiet and shy, and don’t have the courage or confidence to stick up for
myself. What can [ do?

Albert
hitp.://'www.thesun.co.uk/sol/homepage/deidre/teenworries )

Published: 02 Nov 2010 i

——— e ——

READING COMPREHENSION

1. Tick the proper alternative :
In the text Albert is:
Asking his mother to forgive him. {1

Complaining about his mother.

Thanking his mother. -




2. Are the following statements true or false? Tick(Y) the proper box.

Statements ‘ True | False l
a. Albert didn’t know his father. J
b. Albert’s life with his mother was easy. | ‘\

3. Circle the adjective which best describes Albert’s mother

Easy-going - authoritarian - understanding
4. Answer the following question.
What is Albert thinking of to solve his problem?

5. What does the underlined word in the text refer to?

o myself (Paragraph 5): ..o e

1. Complete the paragraph with five (5) words from the list below : (2.5 marks)

’ wm‘*fzw‘@%%vﬁ%ﬁ%‘w%wmmﬂn@*mwﬁ“‘%«%

divorced - only - ‘smile - however - together - close - of %
. S v i A i e o SR i ST ST S RS N i e 45 0 S 00 lﬁ‘;&;gamwm%{m‘é
I live with my mother. T ............... see my father at weekends because they are

.................... My father married again and now I have got a step brother.

My relationship with my mother is quite good, but she is very overprotective . She’s afraid
................ everything. I think she is a bit insecure about me. My father is understanding
but our relationship is not very ...................... Perhaps because we don’t spend much time

................... I wish I had a father.
2. Circle the right alternative to get a good paragraph : (3 marks)

I was born in a small village in the south. Life there was very simple and people (was / are /
were) extremely friendly. I used to go to the local school with my school mates on foot.
However, my father lost his job. So we (have to / will have to / had to) move to a town in
the north. The first weeks at my new school were a nightmare. Because of my southern
(accent / speak / speaking) some naughty pupils didn’t miss any occasion to make fun (at /
about /of) me. Their (aggressive / respectful / good) behavior made me so mad that I
(mustn’t/ shouldn’t/ couldn’t) fit in. For that reason I complained to the teacher who put an
end to my sufferings.

@




3. Match the sentences parts in A with those in B to get a coherent paragraph. Parts in
A are in the correct order. There’s an extra utterance in B .

A » B i

1. Nancy was very a. she was sick to go to school.

2 So she pretended b. on the first day.

3 But her mother knew c. she forgot about being afraid.

4. She took her to school | d. her teachers were very friendly.

5. When she saw her old friends, \ e. she was really more afraid than she was sick.
| E scared to go to a new s_chool.

Answers |1+............ 24 / 3t 4., St e |

You always take part in publishing in your school magazine. The topic of this month is
children and the internet . Write a short paragraph to talk about the benefits and the
drawbacks of using the internet among children.




1- When Ken Stacey was thirteen years old, his father gave him an Mp player. At first,
Ken liked all kinds of music until one day he heard a tube by Backstreet Boys. From
that moment on, he became a Backstreet Boys’ fan. He collected all their albums,

learned all their songs and even covered his bedroom walls with their pictures.

2- Ken’s father became angry with him, he asked Ken why he squandered all his money
on “stupid albums”. Ken told him that music made him feel at ease. Then his father
wanted to know why ken didn’t help in the house, instead of staying in his bed all day
long listening to songs. Ken said he just wanted to be left alone. So his father got
angrier: “You are lazy. You do nothing but listening to those stupid Backstreet Boys.
They have made you lazy.”

3- But Ken continued listening to Backstreet Boys until one day he heard a song of |
Coldplay and immediately became a Coldplay‘s fan. Soon, Ken had long hair like
their leader Chris Martin. When his father asked him to cut it he refused.

4- By now Ken’s father was really upset: “My son is a failure” he complained,.” I gave
him everything: a good home, a good upbringing, everything ! I just don’t understand

[13

him“.

5- But Ken’s father was worrying for nothing. The fashion changed again. And Ken had
his hair cut and got a job. One day, Ken visited his cousin Tony. Tony showed him his ,
new I phone “What‘s that noise? “Asked Ken. Tony told him it was a group called
“One Direction”.” Don’t you like Backstreet Boys or Coldplay? Asked Ken. »
“Backstreet Boys? Coldplay? “Said Tony “But they’re old fashioned. ‘

D




1- Tick (V) the right topic of the text :

a- Ken’s father doesn’t like the music choices of his son
b

c
d

Ken’s father disapproves of his son’s behavior I
Ken’s father doesn’t want his son to listen to music

Ken’s father doesn’t like to spend his money on music

2- With reference to the text, find details to show that the following statements are false:

a- Music cost Ken a little amount of money

4- Find in the text a word or an expression which means nearly the same as :

Comfortable = ...,

1. Fill in the blanks with words from the box :

f Warned - smokers - developmg éddl&éd more — harmful causes

Smoking tobacco is the most 1mp0rtant cause of lung disease. Smoking also
..................... hearts disease, stroke and many kinds of cancer. The sooner, ...............

Many scientists ...................... that smoking tobacco is ................. for health. Yet,
people around the world continue to smoke and die each year suffering from its effects

2. Circle the right alternative :

Farmers spray pesticides on the grass. Animals like cows and sheep eat the contaminated
grass. Consequently, their meat and milk become (health — healthy — unhealthy ). To avoid
this problem, we should (encourage - encouraged — encourages ) farmers to produce
organic food . ( But — in addition — therefore ), ships spill oil and toxic substances into the
sea ( who — where — which ) poison sea animals . When people eat poisoned fish, they may

stop smoking, the .................. they can reduce their chances of .................. cancer. !
suffer ( on — from- of ) stomachache, skin rash and even breathing problems.




3. Match sentences parts in A with their corresponding in B to get a coherent !
paragraph. There’s an extra part in B.

— d

5 ]
1. Jack and Steve have known each | a.important part of each other’s lives.

other b. for many years.

2. They have been neighbours since c. they were children.

3. They grew up together d. they love each other.

4. Now Jack is leaving because he e. and visited each other almost everyday.

5. Jack and Steve have been an f. found a new job in another city.

1+ 2o | B Ao | S, e

Your father is a heavy smoker. He is a cigarette addict. Write a postcard to him on Fathers '
Day to remind him of the negative effects of smoking and give him advice to put an end to l

this nasty habit. These hints may help you: nasty habit, harmful, lung cancer, ought to, I
advise you......




EVALUATION TEST N 5 ‘

(1) When I was a kid, I had a big problem. I was tall, but overweight. I grew up in

Miami and the local zoo had an elephant named "Sam". Needless to say I was called "Sam
the Elephant", Sam the Palace, or big fat Sam. I was upset and I hated my body. When I was
ten years old, I used to cry myself to sleep every night. Every morning, I would wake up and

look at my legs and hope for them to be smaller, thinner, and more beautiful.

(2) So, I started to cut back what I ate in the hope of becoming less fat. Then, I moved
and made many new friends. Other pupils would pick on me and say mean things. One day,
an eighth grader was walking by me and said, "How’s your diet going Fat boy ! One of my
classmates said to me once,” You are the sickest and fattest kid I have ever seen." I never
felt so humiliated and sad in my life. Instead of losing kilos, I gained 5 more. The kids

started calling me “hippo”; I reminded them of the hippopotamus, that large and big animal.

(3) That is my story of my middle school years. I had a terrible time and I did hate going to

school. Now, I am relatively slim. All my childhood stories of overweight are just memories.

READING COMPREHENSION %

1. Choose the best title to the text.

* First day at school
* School memories
* School rules

2. Tick (V) the proper box to say whether these statements are “true” or “false” :

p——

Sentences True False

a. Sam was upset because of his bad school results.
b. He detested going to school.

D

SRS




3. Tick the correct alternative :
1- “I started to cut back what I ate” means:
a- I atealot.
b- I ate less than before
c- I couldn’t stop eating
2- “QOther pupils would pick on me” means:
a- treated me unkindly
b- were friendly
c- were helpful
4. Read and complete with words from the text.
When he was achild, Samhada ....................ooovvenn. time at school and he
................................ going there. But now, he is thin and his fatness is just a part of his
childhood memories.

5. What does the underlined word in the text refer to?

1. Circle the right alternative.
Because of Man’s irresponsible behaviour and carelessness, many species whether animals or
plants are in danger. In fact, Man is (damages - damage - damaging ) nature and especially
forests either by cutting down trees or by hunting wild animals or by spraying pesticides. (But
- As a result- Because ) many wild animals like the elephants or the tigers are (om — in — at) a
great danger. Besides, many animals’ habitats are destroyed by logging as well as by forest
(trees — plans — fires ). For all these reasons some actions must be taken to (preserve — ruin —
kill) forest and nature. For instance, we should punish offenders. Morecover, we (may-ought
to — mustn’t ) prohibit illegal logging. Last but not least, we have to establish more and more
nature preserves.

2. Fill in the blanks with 5 words from the box below :

ﬁadvme/qult/ addicted / asthma/ could / quiet /as?

Smoking is a nasty habit. Unfortunately, many people get so ............... to it. They know
that smoking is harmful to their health as well .................... to the people around them.
Yet, they refuse to stop it or even listen to other’s ................. thinking that it’s their own
business. As a result, thousands of people ............... die of cancer or heart diseases every
year. Personally, I think that smokers should do their best to ............... this damaging
habit because they have no other choice. Death is around the corner.
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3. Put the bracketed words in the right tense or form : l

Mr. Russell Garza is a British sociologist .In his last article, he wrote “it’s really fantastic to
see parents and children share the  (responmsible) .........................a of the house. E
Women who generally look after kids and the housework need some help, some husbands
don’tmind givingahandto ( they)............................ wives. But others would never
"like doing even the  (EaSY) ........cevvveeeeeevveneeeeeenennn. chores like the washing up and the
ironing. They think that the housework is woman’s activity. Moreover they (to pretend)
........................... that their work outside is(difficult)............................than housework.”’

Next Saturday will be Earth Day. It is an opportunity to do some actions to keep the I
environment clean and green. With your friends, you decided to take part in this
celebration. Write an article to tell the readers about the actions you can do to preserve
the environment. i

You may use the following hints: polluted, garbage , save, preserve, organic food...




EVALUATION TEST N°6
( FINAL EXAM 2016)

1. Stephen Sutton was diagnosed with cancer when he was 15 and passed away in May
2014 after battling the disease for four years. Shortly after his diagnosis, he set up his
own website, Stephen’s Story, which was meant to spread motivation and positivity.
On his blog, he included a list of things he wished to achieve in his life. These ranged
from small things, such as sunbathing, to larger things including skydiving. However,
his primary focus was fund raising with an aim of making 10,000 pounds for the UK
charity, Teenage Cancer Trust.

2. Stephen’s fundraising efforts were backed up by a large number of people who
wanted to help him achieve his goals. After becoming very ill, Stephen posted several
selfies in which he was smiling and giving a thumbs up as a thank you to his
supporters. Instantly, people across the entire social media world, including celebrities
were posting theirs while promoting his efforts. Despite his severe suffering, Stephen
remained positive and focused on helping others.

3. On the day of his funeral, his supporters took to social media once more to post
thumbs up selfies in his honour. It was wonderful how Stephen could inspire many
with his fantastic story through his social media presence.

Adapted from Learn English Teens, June 19, 2014

READING COMPREHENSION §

1. Tick the right alternative
In this text, Stephen was mainly concerned with:

a. Posting selfies through social media.

b. Setting up a website about sports. m
c. Helping teenagers fighting cancer. m

2. Fillin each blank with only one word from paragraph 2 and 3.

While suffering from cancer, Stephen did his best to remain .................coeeeen.
Even after his death, he was able to.................coovvnin people throughout the
world to fight that disease.

2N Anglais



3. Read paragraph 1 and find the equivalent of:
died= ...
4. What does the underlined word in the text refer to?
“theirs” in paragraph 2 refers t0 .........ccccoeveiiiiiiiiiiiiiiii
5. If you were one of Stephen’s supporters, what other actions would you take to

fight cancer?

1. Fill in the blanks with six (6) words from the list below.

i SR AR R
borrowed collectlon gamed - lent - enthus1ast1c —blgger - mlserable - 1mpr0ve

Louis Soriano created a travelling library. He believed he could ........................
the style of living in his town by bringing literature to its inhabitants? “ I started out with

seventy books and now L havea .................. of more than 4.800,” said the primary school
teacher. Soriano saw how...................... children were about reading. They waited for
him in groups. When he arrived, he read from the books he brought. Then, the
children....................... them. The library..................... national attention. When
asked if he would movetoa ................... city, Soriano said “ I don’t think so. My place 1s
here.”

2-Match the sentence parts in column A with those in column B to get a coherent
paragraph. There is one extra part in column B.

Column A I ColumnB
| 1.Britain is planning to prohibit a. vulnerable to passive smoking
2.This will help protect children _ b. To smoke in public places.
3.Children are especially c. than adults
4. They have smaller lungs and faster breathing rates | d. from smoking related diseases. |
e. Smoking in cars with children.

Answers l | I PR E+ ................... K B T4+ .....................

O




3-Circle the right option :

In 1960, biologist Sir Julian Huxley returned from a research trip to Africa. He was very
much shocked by what he had seen there, the hunting of rare animals and the destruction of
their ( habit / habitat / inhabitants ). The following year , Huxley, some fellow scientists
and a few politicians ( found / find / founded ) the World Wildlife Fund. It became the
largest conservation group in the world. Today, the WWF has 5 million ( supporters /
offenders / peers) around the world. It has national organizations in more than 50 countries
and ( wastes / raises / earns) more than 100 million dollars a year. The most important
( mission / opportunity / conflict ) of the WWF is to protect endangered species around the
world namely the tiger, the whale and the elephant. The giant panda, one of the (more / most
/ many ) endangered animals, has become the WWF logo.

Like many other teenagers, you realized that some of your classmates waste their pocket
money on harmful and unnecessary things, such as cigarettes. You decided to write an
article in your school magazine giving them some advice on how to spend their pocket
money appropriately.




EVALUATION TEST N° 7
( FINAL EXAM 2017)

1. On her first day back to work after a four-month maternity leave, Amy Vachon woke
up early to nurse her daughter, Maia. Then, she fixed herself a healthful breakfast,
prepared a bottle of milk for the girl to drink later, kissed her goodbye and headed for
the door. But before she left, she reached over to her husband Marc, who would not be
going to work that day in order to be home with Maia. She handed him a list on which
she scribbled the “ how much”, “how long” and “when” of Maia’s napping and eating.

2. The Vachons would not be the kind of parents'they had been. Instead, they would
create their own model, one in which they were parenting partners. After Maia was
born, Amy and Marc negotiated part-time schedules: How often should the dishes be
done? What constitutes “doing laundry? ” Washing it, folding it or ironing it?

3. Slowly, an agreement has emerged. The cooking is done by whoever is home that day.
The laundry is done the same way. Gender should not determine the division of work
at home. The point they say, is to think over the chores you are doing with “no |

3 <

nagging”, “no arguing” but mutual understanding.

Adapted from
The New York Times Magazine June 15, 2008

1. Tick (V) the right alternative :
a. raising children Q
The text is mainly about:  b. doing housework § §

c. sharing it all m I
2. Fill in the blanks with only one word from paragraph 2 and 3:

Unlike their parents, Amy and Marc.................. their roles at home and reached
AN e based on mutual understanding.

3. Read paragraph 3 and find out an expression having the same meaning as:
Being a man or a woman: ...........coeiiviiinnininn,

O = T



4. What does the underlined word in the text refer to? l
- ‘the girl” inparagraph 1 refers t0 @ .......coiiniiiiiiiii i

5. Give a personal and justified answer to the following question. '
Do you like the Vachon’s model of parenting? Why? Why not?

1. Fill in the blanks with six (6) words from the list below :

5 S KR i SRR AR R IR s i i i S
#to - personally - purchase - might - save - about - should - goods ¢

OB i B A I N 09 s i o i e

Online shopping has become very popular because it has many advantages. With just a click
of the mouse, you can ...............ceeennns your shopping orders, which can
........................... time. When buying items online, there are no long lines you have to
endure just to buy your ......................... However, there are some advantages that
online shoppers complain ...................... They are unable to touch , see and test the
product ..........coeiiiiinannn . Moreover, the description and the photos of the merchandise
.................... be different from those of the real one.

paragraph. There is one extra part in B.. Write your answers in the space
provided

Column A Column B

L1

1. Exposure to continuous a. may cause headaches
noise

B

| 2. In some cases, it leads ] b. on our health and mlnd: | _/_J
3. It affects concentration and c. creates discomfort and irritation.

4. Therefore, it has harmful d. increase the quali%;bf life.
effects

e. to complete deafness.

Answers | & 2 e 3t ] 4+......

l ,
7
i
i
R
2. Match the sentence parts in column A with those in column B to get a coherent i
B
B
d
i
i
g

©




3. Circle the right option : l
Is chocolate good for your health? Kim Hoffman, a dietician, (warns, advises, invites)
that the sugar in chocolate is not good ( at - for - to) us. But, doctors say there are also
healthful substances which (lead -make — create) a happy feeling like anti- depressants.

Some experts say uncooked pure chocolate may contain ( fair — just - enough ) the right
balance. The (bigger — big — biggest) value in eating cocoa and dark chocolate may be I
their (danger — impact — ability ) to lower blood pressure. This comes from theexperience

of cocoa butter melting in your mouth.

Your parents organized a party to celebrate your success in the national exam. At the
end of the party, you decided to show how grateful you feel towards them for every good
time they did to you. Write your speech below. l




EVALUATION TEST N°8
( FINAL EXAM 2013)

('Bridget Hickson, 13 starts each school day with a soft drink. The seventh grader in New
York City drinks a bottle of coke before classes begin at eight o'clock in the morning.
Bridget’s passion for soda is not that unusual. Kids today are drinking more soda than ever
before and many are buying it at school. In 1997 kids spent $750 million on soda, sweets
and chips in school vending machines.

Health experts are concerned that selling soft drinks in schools encourages poor nutrition.
They point out that a can of soda contains 10 teaspoons of sugar and has no vitamins or
protein. They want schools to take their soda machines away. Their purpose is to encourage
kids to buy milk and other healthy drinks at lunchtime.

“Kids have to stop drinking soda," declares nutritionist Michael Jacobson. "It has no
protein and no fiber”. Consuming too many sugary drinks can lead to many health
problems including fatness and toothache. In addition, kids who fill up on soda instead of
more nutritious foods miss out on important vitamins and minerals. Choosing soda over
milk, for example, prevents some kids from getting the calcium they need to build strong
bones and teeth.

Adapted from ‘Time for Kids' April 30, 1999 Vol.4 No.25

———

READING COMPREHENSION %

e R

1. Tick the right alternative :
The text is mainly about the effect of soft drinks on :

a- kids' school life.
b- kids' health i
c- kids’ habits. =

1§

2-Are the following statements true or false? Tick (V ) the proper box :

STATEMENTS TRUE | FALSE
Brldget ‘usually drinks coke before ¢ starting clz classes.

Ll

| Health experts encourage selling - soft drinks in in schools




3-Fill in each blank with ONE WORD from paragraph three :

Nutritionists say that kids who consume too many........................ drinks may have
problems like toothache and @ «+crcvvvvrveniiiiniiiinnnnnn.

4-Tick the function that corresponds to the following statement :

"Kids have to stop drinking soda” (paragraph 3) expresses :
a-prohibition
b- possibility

c-obligation

G

1. Fill in the blanks with six (6) words from the list :

extmct saw Nforests - tlme huntmg saved - 1s - looked }

ik R o

A century ago, a bird called the passenger pigeon lived in North America. There

were many passenger pigeons atthat................ People often .................... great
flocks of them flying overhead. Today, there ....................... not a single one left. The
passenger pigeons have become ...l They have disappeared for two
reasons: first, the........................ where they lived were cut down to make way for

farms and cities. Second, many pigeons were killed because they were good to eat and

there were no........................ laws to protect endangered species.
2. Circle the right option :

Jane Parker is the most creative person that I have known. She (started - starts a
starting) piano lessons when she was only six years old. At school, she was always
creating (interested - interesting - interest) projects in her art classes. When she the l
only twelve years old, she (earned - purchased - wom) a citywide poetry competition.
Her parents were very proud (of - with - at) her. Now Jane Works as a sitcom writer for E
popular T.V show. She works with a group of writers, and together they (decide - think
make) of fresh projects. They also come up with funny dialogues which make I
audience ( share - quarrel - laugh ) and clap their hands out of pleasure.

o [




3-Match the sentence parts in column A with those in column B to get a coherent
paragraph. There is one extra part in column B. The parts in column A are in the
correct order. Write your answers in the space provided :

Column A

Column B

1.) Daisy doesn’t get on

(a) money to cover her school expenses.

2) They don’t give her enough

J——

(b) intends to leave school.

3) They always ask her to

(c) well with her parents.

4) Daisy is so sad that she

(d) help with the housework.

(e) buying too many

stationeries.
Answers ‘ I+...... 2t 3 | 4+......... |

Recently, you have noticed too much violence in your school (fighting - destroying school
equipment - taunting, etc). Write a short article for your school magazine in which you give
your classmates some advice on how to behave correctly at school.

These hints will help you : respect - tolerant - school rules - friendly - help each other —
politely




EVALUATION TEST N°9
(FINAL EXAM 2015)

When I was 13, you were my cookery teacher at Wallsend School, and you always asked
the pupils to bring ingredients for the recipes. I hated the subject because [ knew my
mother struggled to afford the ingredients.

2) There was one lesson I shall never forget and which I still feel very angry about today,
more than 50 years later. On that occasion, we were going to make beef stew and we were
required to bring a quantity of beef, along with other irigredients. We never ate beef at
home. We just couldn’t afford it because my father's income was very low. I was
frequently hungry as a child.

3) On the day of the beef stew lesson, my mother told me she couldn’t possibly buy
beef. So, I plucked up courage and went to see you to explain that I was unable to bring the
ingredients. You shouted: “How dare you come without the ingredients?” As a punishment,
you made me clear up after all the girls in my class.
4) I was upset at your insensitivity and cruelty; but being shy, I couldn’t defend myself.
You did not understand my difficult situation and that was unfair. Why didn't you try to

understand and sympathize with the little girl who came to see you that day ?

Kathleen Cope The Guardian 22 March 2014

READING COMPREHENSION i

TR

1. Tick the rlght alternative :
In this letter, the writer is :
a - thanking her mother. m
b- blaming her mother. m
¢ - apologizing to her teacher. : W?

O




2. Fill in each blank with only one word from the text:

Kathleen didn’t bring the ingredients because she couldnot....................o to
buy them. The teacher........................ at her and obliged her to tidy up the classroom
after the lesson.

3. Read paragraph 3 and find an expression which has the same meaning as :

I made an effort t0 be bl'ave T i i iieetecseresssatsseseserenraasersesees s

4. Read paragraph 4 and answer the following question :

How did the writer feel about the teacher’s behavior?

1 Flll in the blanks with six (6) words from the list below :

L ek

Better— as - addlcts amount havmg waste them worsei

J— Sl R

A new camp in Germany is trying to get children who spend too much time on the

internet out of their bedrooms. Children at the camp are computer ...................... That’s l
why, they are encouraged to spend ...................... much time as possible outdoors.
Supervisors take...................o.l to beach every day. They swim and do aerobics
before..........oevvviiinnn a healthy lunch. Children who attend the camp say they feel
much............ by the end of it. Besides, many promise to limit the
........................... of time they will spend on their computers once they return home.

3. Match the sentence parts in column A with those in B to get a coherent

paragraph. l
N Column A Colurmn B |
J Action X\gdlnbl Hungu (AAL l) isa gtobal (@ to the victims of wars and natural (i';sasu TS, I
as established in Qv matnourished Chi]dren.ww o
_3/ The charity's aim is to offer hc¥pmm (©) humanitatian m‘ga{ni"z.alﬂi}}r{.‘——w T J
@ 1t works to save the lives of @ with water and sanitation facililics. N I
& The charity also tries to provide communitics | (© t\;—nuhp:upk T
" T 1970, ” o !
Answers | 1+........... 24 i, 3, Va5
:

p107




3. Circle the right option

Between 1% and 6* grades, Daisy went to seventeen different schools. It wasn't Daisy’s
(promise / conflict / choice) to change school so often. Her father was restless. He moved
them all over the country looking (for / after / at) the dream job. More than once, Daisy
walked out of school at the end of the day to find her parents waiting for her, their car
packed with everything they (lent / lost / owned). With no warning, they (were moving /
move / will move) again. When Daisy’s mother told her husband that they needed to stay
in one place so that Daisy could do well at school, he would laugh and ask: “Why?” Then
he would answer (myself / himself / herself) “Girls don’t need an education. ”

You have heard about a campaign to help needy people in your country, and you have
decided to write a ten-line article for your school magazine to encourage your
schoolmates lo volunteer and take action. These hints may help you: donate / stand by /
give hope / support / raise / collect/ join...
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‘ Epreuve de francais N°1
Compréhension :

2/ Frollo décide d’¢lever quasimodo pour les deux raisons suivantes :

11 pense que son frére Jehan pourrait étre a la place du petit bossu.

11 veut que le bon Dieu pardonne les fautes de son frére.

« Claude pensa que son petit frére, son cher Jehan aurait pu étre laid et abandonné, il se
promit d’élever le petit bossu pour I’amour de son frére pour que Dieu pardonne les fautes

& que Jehan pourrait commettre »

3/ L’enfant s’attache a 1’église (Notre-Dame) puisque c’et I’endroit dans lequel il a grandi.
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De I’aimer : groupe infinitif.
Se taisaient / avait grondés / faisait
Essai :

Langue :
! 1/Laid # beau. Abandonné = laissé

o .\mwﬂﬁ

i 2/ - Frollo vit seul avant qu’il ne fasse la connaissance du petit bossu. Parmi mes souvenirs agréables que je gardais encore des années de collége est celui de

% Les veilles femmes poussaient un cri d’étonnement dés qu’elles voyaient le difformé. monsieur Frangois, mon professeur de math. C’étaitcelui qui m’a enseigné les

! 3/ Salua/ Sort / Eut mathématiques pour trois ans successifs. Un troisiémageux, long et maigre mais qui était
, toujours élégant. En jean ou costumé, il était plein de vigueur et de vitalité. Son regard

Essai :

affable, sa démarche assurée et son sourire rassurant le rendaient de plus en plus aimé et

i au voisin. ient d’emménager dans ier. ére est . ‘o PP PR ron 4 :
Jolio est notre nouveau voisin. 1l vient de nager dans  nofre quartier. Son pére es respecté par tous les collégiens. C’était lui qui m’avait aidé a aimer le collége, & travailler

banquier ; sa mére est directrice d’école. Chaque aprés-midi du weekend et lorsque nous . s s s teaia s , . .
éperdument et a étre a jour. Déja, il venait a 1’aide 4 tous les collégiens sans exception. Avec

jouons au football, Jolio se tient au balcon et suit le match jusqu’a sa fin. Ayant compris une de patience, il allait de 'un 4 I'autre pour aider celui-ci 4 résoudre une équation

qu’il aimait le football, je I'invite & partager notre jeu. Mais ce derier refuse. Lorsque

difficile ou pour expliquer un théoréme  celle-1a. 2

j’insiste, le pauvre Jolio m’explique qu’il est boiteux et qu’il ne pourrait pas jouer. Alors, je

Nous disputions en classe, nous perturbions par nos chahuts le cours de la legon mais

2 Iui propose d’étre I'arbitre. Au début, il s’obstient en rougissant. Enfin et avec monsieur Frangois était toujours indulgent et patient. Par ses douces maniéres, il finissait par

Pencouragement de mes camarades il consent. La partie était superbe et surtout avec le nous apprende 2 étre de bons éléves. Je n’oublierais jamais mon cher professeur, le seul qui

nouvel arbitre qui a beau essayé de plaire aux deux équipes. Vers la fin du match on

RS R A e

avait agrandi ma soif d’apprendre.

R

transporte Jolio sur nos épaules sous les applaudissements et les acclamations des amis : Epreuve de frangais Zmu

Compréhension :

1/ Oui, I'aveugle est un vrai pianiste qui joue a bon escient. Les deux indices qui le montrent :
« 11 poursuivit son jeu d’artiste»  « Ou il mettait son &me »

2/ La musique 1’aide & s oublier et 4 oublier ses problémes.

3/ Oui les enfants ont beaucoup aimé la musique del’aveugle de fagon qu’ils sont

Epreuve de francais N°2
Compréhension :

’

« bouleversés par sa visite » et décident de « I’aider ».

Langue :

vrai

1/ Un violoniste — Un guitariste — Un fliitiste — Un accordéoniste.
2/ - Les enfants aident le pianiste aveugle pour qu’il soit heureux.
I1 joue bien afin que les enfants soient amusés.
3/ avait appris / visitaient . 4/ réguliérement / intensément / nettement / certainement.

1/ justification : « pendant la dictée, M. Perloni se mit & marcher entre les pupitres ».

2/ M. Perloni est doté de plusieurs qualités. En effet il est tendre il n’hésite pas 2 tenir de

Essai :

Ce sont les vacances d’été, J’ai accompagné ma famille & 1’amphithédtre romain de Carthage :
Ma chanteuse la plus préférée Mejeda Erroumi chantera cette soirée. J’ai été si impatient de voir
mon idole sur scéne. A peine étions-nous installés que !'orchestre a commencé a jouer. Le public,
trés agité, s’est tu pour écouter attentivement le fragment de musique qui a entamé la soirée.

deux mains la téte d’un éléve pour se rassurer de 1’état de sa santé. Il est encore un

professeur indulgent qui pardonne les bétises de ses éléves. Enfin, il est sage puis qu’il est

capable, par ses beaux gestes et ses belles paroles, & faire influencer ses éléves.

Le morceau achevé, le public sautillait et criait « Mejeda, Mejeda » précipitant son entrée sur scéne.

3/ Monsieur Perloni considére les éléves comme sa famille « je n’ai pas de famille, ma

On a fait le sombre puis un feu d’artifice ailluminé la scéne. Tous les projecteurs se sont allumés
et ont focalisé sur une partie de la scéne. Les premiéres notes ont commencé et Mejeda faisait son

famille, ¢’ est vous. »

apparition : belle et élégante comme toujours. Elle portait une robe vert olive. Ses cheveux noirs

Lange:, bordaient son visage lumineux et souriant. Elle a été longuement applaudie puis elle a commencé

1/ Tachons = essayons . 2/ Turbulents / que monsieur Perloni a prononcée / de ce sa premiére chanson romantique avec une musique douce harmonieuse et envoutante. Le public écoutait
N L religiensement puis si excité, il a éclaté dans un tonnerre d’applaudissement en exigeant la reprise

professeur 3/ Trés sévére : groupe adjectival. de la chanson. Souriante, Mejeda a accepté de reprendre en langant des bisous 4 son public extasié.




Epreuve de francais N°4
I. Compréhension :

1/ Ce sont les Peaux-Rouges qui ont attaqué les voyagetrs du train. « Sur les toits, les
Peaux-Rouges tirent des coups de fusil 4 I’intérieur des wagons ».

2/ Passe partout, le domestique de M. Fogg, est intervenu lors de ce danger. [l a bien réussi &
sauver le reste des voyageurs puis que « d’un formidable coup de poing, il écrase le chef des
Peaux-Rouges et arréte la machine ».
3/ Passe partout estun vrai héros car il s’expose a un grand danger et risque sa vie pour
sauver son maitre et les voyageurs du train.
I1. Grammaire :
1/ - Passe partout les a tués.

Passe partout pense a lui.
2/ - Le train a été abandonné par les assaillants.

M. Fogg récompensera le héros.

3/ - arriveront / auront attaqué.
- aura / aura achevé.

4/ quand / qu’en / quant / quand.
IIl. Essai :
La majorité des films que j’ai vus relatent des exploits qui m’ont beaucoup ravi. Mais
Phistoire héroique qui m’a éperdument impressionnée est celle que j’ai vue la derniére fois.

Héloise est une sage-femme qui travaille dans un grand hépital & Los Angeles. Agée de 60

ans, elle souffre déja d’une maladie cardiovasculaire. Un soir, elle a pour patiente une jeune
femme enceinte et qui attend deux jumeaux. La patiente souffre. Tantbt elle crie, Tantdt elle

pleure. Elle se débat pour résister & la douleur. Vite, Héloise la prépare pour ’accouchement.

Elle la tient par la main ; elle la soulage. Puis, aidée par une infirmiére, elle commence & lui
faire des soins et 1’aider & mettre au monde ses jumeaux. Soudain, Héloise s’est senti des
douleurs 4 la poitrine. La sueur coule sur son front. Les douleurs s’empirent. L’infermiére la
pousse 2 quitter la salle de I’accouchement mais la sage-femme refuse. Elle ne peut pas
laisser sa patiente dans ce moment aussi délicat. Trente minutes passent ; les jumeaux

braillent d’une voix sonore. Une équipe de médecin accourt ; fait 4 la sage-femme un test
sanguin et confirme qu’elle a fait une crise cardiaque. On la remet en soins intensifs et

urgents pour se récupérer.

Bravo Héloise ! Tu es, vraiment, une héroine.

Epreuve de frangais N°5

L Questions de compréhension :

1/ pierre est chauffeur / conducteur d’un camion /camionneur

2/ Oui, Pierre adore son métier. Ceci est clair 4 travers le grand soin qu’il accorde 4 son
véhicule avant de se mettre en route.
3/ Non, la mére de Pierre n’apprécie pas le métier de son fils puisqu’elle ne peut pas le voir
durant deux nuits successives « Moi, je ne m’habitue pas. »
4/ Vers la fin du texte et en essuyant les phares, le camionneur est comparé a une mére qui
essuie tendrement le visage de son enfant. Cela montre bel et bien que Pierre aime son
métier tout comme la mére qui adore son fils.

II. Langue :
1/ Jardinier / tisserand 2/ La meére de Pierre est triste puisque son fils la quitte.

Le travail nous assure une vie confortable de fagon qu’on doit I’aimer.
3/ Soit / accomplisse.

4/ Tous / tout / tout/ tout
I11. Essai :

C’est vrai que le métier de camionneur est un bon métier puisqu’il permet de vivre des
aventures, de découvrir de nouveaux endroits et de nouer d’autres relations mais ce n’est pas

le métier de mon réve. Pour moi, j’aimerais exercer un métier de prestige, honorable stable
et bien rémunéré. En plus, je voudrais un job non-fatigant et qui ne demande pas des
performances physiques. Cette profession devrait, en outre, m’aider a concilier ,sans souci,
ma vie familiale et ma vie professionnelle. Elle me permettrait, ainsi, d’avoir du temps libre

pour exécuter d’autres activités.
£IREEENIS RS e LSS RIsEsenIEY
Correction du concours 2015
I - Compréhension : 7
1- Pinconnu est un jeune homme qui se déplace pour trouver du travail. Justification « je viens demander
du travail »
2- activités artisanales activités artistiques
- rempailler les chaises - jouer du violon
- rétamer les casseroles - danser
- réparer la porcelaine - jouer la comédie
- ramoner les cheminées - faire des tours de cartes
3) la valse de bohéme jouée par I’inconnu est tellement tendre et douce que le silence se
répand partout. On ne veut pas gicher le plaisir de I’écouter. « Les enfants dans 1’allée.
marchérent sur la pointe des pieds. « Les oiseaux cessérent de se chamailler »
4) Dans le dernier paragraphe, la musique est présentée sous une double face. Elle est
indéfinissable : tant6t heureuse, tantdt malheureuse »

« Triste et joyeux » « Une musique sauvage et insinuante »




3) dur — qui souffre — de briques.

= 1) s’arretérent = cessérent ) .
- It cesse de bavarder aprés avoir été grondé par sa maman 2 4) hurla — rougit — raidit — s’évanouit — était - arracha.

i 2) I 2 été dévisagé avec surprise par les enfants: La surface des basins est doucement caressée parles & III — essai

gouttes. 3) aura préparé — se mettra — avait — avait hérité. 4) tout-tous-tout-tous. |

III - Essai
Depuis ma jeunesse, je me passionne de la musique au point de réver d’&tre un grand
guitariste, car jouer de la guitare me plait.

. Un jour, j’ai proposé 4 mon pére de m’inscrire dans une école pour exceller dans le jeu de

i cet instrument.
{ - papa que penses — tu de m’inscrire dans une école de musique, je veux jouer de la

guitare. », Dis-je tres encouragé.

- Pourquoi faire ? Riposte —~ t- il aussitot.

- Pour étre un grand musicien ; c’est un métier que j’adore. Ajouté — je vivement.

~ Mon petit, étre musicien n’est pas un métier », dit-il un peu étonné.

-Mais, il gagne beaucoup d’argent, il méne une vie luxueuse et il distrait un public.

R Affirmé-je

- Mais, je veux que tu deviennes un médecin, parexemple, cela demande des années
d’études. 11 sauve la vie de plusieurs personnes, il a un salaire rentable et il vit le luxe.
Mexplique- t — il tendrement.

- C’est vrai, mais aussi le guitariste ou le musicien guérit les gens a sa fagon ; il les rend
hilares et les aide 3 oublier leurs peines et leurs souffrances. N’est — ce pas ? Dis-je tout confiant.

- Bon, puisque ¢’est ton réve, tu dois travailler dur pour le réaliser mon fils.

§ C’est ainsi que j’ai pu changer 1’air de mon pére. Deux jours aprés, je me suis inscrit dans

i ’école que j’ai voulue .

Oanmogg du nc:no:mm 2016

I- Compréhension :

1) Quand le professeur s’adresse a Julien Abalain, Vairon I’empéche de parler. Il « éclata de

rire » et donna le surnom de julien puis il le « devanga » pour ajouter des informations a
propos de ce surnom.

2) Vairon fournit des informations a propos du surnom de Julien. I dit qu’il est surnommé

« chocolat» car il a été « ramené du Brésil dans une cargaison de chocolat » et qu’il est un

enfant adopté trouvé en creusant la terre pour extraire le chocolat ».
3) Suite a la révélation faite par Vairon, Julien éprouve différents sentiments, Il est indigné

« il aurait dii protester, hurler d’indignation, iln’y parvenait pas » exprime de I’affliction

« Cet comme un boomerang il lui revenait en plein cceur, lui provoquant d’affreuses blessures »
4) L’état physique de Julien se caractérise par la faiblesse. Il n’a pas pu supporter cette
affreuse scéne qu’il « se sentit mal, s’évanouit et sa vue se brouilla ».

II — Langue

1) éleva — avec agacement

2) 11 était encerclé par un mur qui s’était subitement dressé.

On a ramené cet enfant du Brésil dans une cargaison de chocolat

#: professeur m’a pris un jour en flagrant délit. Un jour et pendant la séance de frangais , I'un de

1 que je confronte une pareille injustice. Cela me frustre et m’ abat. Je me sens démoralisé et

SRR SR

Je suis un éléve intelligent et studieux. Le premier 4 trouver la réponse quand les autres se

taisent. Mais, Je suis turbulent; je n’hésite pas a faire des blagues a mes copains et a les

mettre dans des situations embarrassantes. Cela me fait un grand amusement .D’ailleurs un

mes copains coupe une méche des cheveux d’Asma quj reste 4 mes c6tés. Celle — ci crie &
haute voix. Le professeur interrompt la legon et me convoque a son bureau. Il m’insulte, me

gronde et m’empéche de se défendre. Je me fige de stupéfaction. Enfin il m’exclut de la salle.

Je ramasse mes affaires, les larmes aux yeux et jesors le ceeur brisé. C’est la premiere fois

depuis ce jour, je décide d’étre plus sage et sérieux pour avoir une bonne réputation au

college.

Correction du concours 2017

I~ Compréhension :

1) a — pour tester son endurance

b — <<Emile aimerait comprendre jusqu’otl va son endurance >>
2) Emile fait des efforts extraordinaires dans ses entrainements.
- 11 n’arréte pas de courir partout « dans la rue, sur les routes, en forét, dans les champs, au

’

point de se faire mal...

- Il se lance des défis « Le premier jour, il retient son souffle en marchant jusqu’au
quatriéme peuplier {....) et ainsi de suite tous les deux jours jusqu’a ce qu’il parvienne enfin
au bout de I’allée sans respirer ».

3) Emile a réalisé plusieurs exploits. Le premier 4 Zlin puis dans son pays ou il est le
premier & « franchir cing mille métres en un quartd’heure ». Enfin 2 Prague ot il « bat un
nouveau record, son troisiéme de I’année »

4) Les indices qui montrent le caractére exceptionnel de ces exploits :
* « on s’exclame » « on s’exalte »

* « on prévient la presse nationale »

I - Langue

1) puisque il a fourni des efforts considérables, Emile a amélioré ses performances.

- Emile s’entraine sans répit afin que le comité sportif reconnaisse son talent et son exploit.

2) En réalisant cet exploit

Lorsqu’il est sur la piste




3) ouvre — soient — battra — améliorera

4) réguliérement — intensément — constamment — nettement.

III — Essai :

Chaque année, notre village organise la course des vélos. Pour moi, c’est une grande
manifestation sportive puis qu’il y a des participants, un prix pour le champion et des
spectateurs qui par leur acclamation excitent les cyclistes, égaient les habitants et vivifient ce

village qui s’installait silencieusement au pied d’une montage. Le jour prévu, je me rends a
I’endroit. On donne le signale et la course commence. Les cyclistes s’élancent comme

I’éclair, vigilants et attentifs. Chacun veut gagner a tout prix. Pour moi, J’encourage mon

ami Maxime, le meilleur des cyclistes. La course commence rapide puis apres un kilomeétre

coury, elle se maintient réguliére. Deux cyclistes sont en téte .Au dernier tour, mon ami

Maxime prend la téte. A trois cents métres de I'arrivée, il reste en compagnie d’un autre
adversaire. Il accélére, il ne se laisse pas dépasser, il résiste 4 une derniére attaque et voila
qu’il gagne. 11 dépasse la ligne de 1’arrivée. Il relache sa main sur le guidon. Le champion
salut le public qui I’applaudit fortement. C’est vraiment une agréable journée ou se fusionne
I’excellente organisation avec les acclamations enthousiastes des spectateurs.

H<PFG>H~OZ TESTN1

Comprehension questions

1.  The article deals with : Rural women in Tunisia 2. false / true / false

3.  essential / establish 4.  school / Ben Ahmad and other women

Language

1. loneliness / founded / who / for /her / smallest

2. volunteer / most / realise/ experience / me
3. 1+d/2+e/3+b/ 4+ / 5+a

WRITING
I live in a city in the west of Tunisia. I usually take part in voluntary actions. last week

my friends suggested to visit an orphanage in our neighborhood to help the needy
children there and cheer up their faces. Soon, we started the preparations; we collected

donations; clothes, money, food, toys then we went there . When we arrived, we talked

to the kids, played with them and gave them the toys and games . They felt very happy
By the end of the day, we felt proud of what we did and our parents thanked us; It was

really a wonderful experience.

S

The speaker is complaining about: too little pocket money

a- I get about 30 pounds a month as pocket money
b-on the first Saturday of the month, the day when my parents give me the
money, parents don’t have any cash

a- They got 1 pound a month
b- He spends his pocket money on music, fast food, going to the cinema

4. to purchase
LANGUAGE
1. nuclear / of / divorced / move / as

2. worse / gets / extras / overspending / hard — earned

discuss/ listen / completely / youngest / strict / more

WRITING
I’'m writing this letter to tell you about my problems with my parents. They are quarrelsome ,

doverprotective and conservative.Theykeep complaining about my behavior.Every Saturday afternoon,

all my friends go to a local dance and stay till midnight but I have to be home before 11. I got angry
and we had a lot of arguments but in vain. My father thinks I’'m irresponsible and stubborn .I wish they
were supportive and helpful parents who stand by me and support me. I’m sure you understand all these

problems. I feel miserable, desperate and lonely. Write me soon and cheer me up.

EVALUATION TESTN 3

COMPREHENSION QUESTIONS

1. In the text Albert is complaining about his mother
3. authoritarian

5. I( Albert)

2. true/ false

4. He just wants to leave the house.
LANGUAGE

1. Only / divorced / of/ close / together
2. Were / hadto / accent / of / aggressive / couldn’t 1+f/2+a /3+e/ 4+ b/ 5+c
I11. Writing

The internet is a great leaming tool for children,but what about the problems

and dangers if children are surf the neton
Many people are in favour of children using the internet and the reasons are many.

Firstly, the net
Secondly, they learn about other countries and cultures or they can meet people

and make friends throughout the world. Besides, they can entertain themselves

allowed to their own?

is part of our world, so children need to wuse it

by playing games and listening to music. Moreover,they can send and receive messages.
On the other hand, some people are against letting children surf the net on their own.
so that they might become

In fact, many use it for playing games, not for leaming;




LANGUAGE i

1. damaging / Asaresult / in / fires / preserve / oughtto
2. addicted / as / advice / could / quit
3. responsibility / their / easiest / pretend / more difficult
WRITING
Dear readers,
No need to say that our environment is threatened by many dangers such as pollution, extinction of
wild species, shortage of energy and water...
Consequently, we are urged to do some actions to save our environment and I think Earth
Day is a great opportunity to share and make a difference.
Personally, I will cooperate with my friends to plant many trees in our neighborhood.
Besides, we will try to save water and energy. In addition, we are going to practise sports
and eat organic food.
Finally, we will organize a campaign at school to make our schoolmates and teachers aware
of living in a cleaner and greener environment.
Don’t forget dear friends, join in and make a difference.

internet addicts and uninterested in their education. What

s more, some web sites are

not suitable for children.

To conclude, the Internet offers many advantages, .but children should be

supervised when they’re using it, and parents Eﬁwznwow them how to use it properly.
6 S ¥

PERITEON

A

CORRECTION OF EVALUATION TEST N° 4
COMPREHENSION QUESTIONS
1. Ken’s father doesn’t like the music choices of his son (V)
2. a. he squandered all his money on “stupid albums
b. I gave him everything: a good home, a good upbringing , everything !
3. - His father got angrier: “You are lazy. You do nothing but listening to those stupid
Backstreet Boys. They have made you lazy.”
4. “My son is a failure” he complained ....
5. at ease
LANGUAGE
1. causes / smokers / more / developing / wamned / harmful
2. unhealthy / encourage / in addition / which/ from
3. 1+b / 2+C /3+e / 4+ £/ 5+a
WRITING

CORRECTION OF EVALUATION TEST N°6 ( FINAL EXAM 2016 )
COMPREHENSION QUESTIONS

1.C

Dear father, 2. positive / inspire

I’'m really afraid to tell you that you are addicted to cigarettes and you are causing harm not 3. passed away

only to your body but also to ours. 4. selfies

Today is Fathers Day. I love you dad. That’s why I am writing this postcard to remind you 5. I will join groups that are concerned with fighting cancer and take part in their
of the negative impact of smoking on your health and give you some tips to get rid of this activities..

I will organize campaigns to make people aware of this disease and how to prevent
themselves from it.
LANGUAGE

1. improve / collection / enthusiastic / borrowed / gained / bigger
2.e/d/alc

3. habitat / founded / supporters / raises / mission / most

WRITING

i Dear readers,

| I would like to remind you that money is hard-earned and your parents spend
a hard time to get it. I really noticed that some of my friends are squandering
| pocket money. They spend it on extras. Therefore I advise you to spend your
money wisely. Try to purchase what you only need. So instead of buying
cigarettes, CDs and harmful things, keep your pocket money as future
savings.

nasty habit.
In fact, smoking is harmful. It might lead to many deadly diseases such as lung cancer,
asthma and heart diseases. It is also a squandering of money.
Hence, I advise you to give up this habit immediately and stop causing harm to your body.
Besides, you ought to reduce drinking much coffee and tea and try to avoid eating
unhealthy food.

Instead, you’d better to practice sports regularly in order to keep fit.

I hope these tips may help you.

Yours.

1. School memories 2. False / True
3.b/a 4. terrible / did hate
5. One of my classmates / The kids




CORRECION EVALUATION TEST N° 7 ( FINAL EXAM 2017)
COMPREHENSION QUESTIONS
1. C
2. divided - agreement
3. gender
4
5

. Maia ( the daughter)
. Ido like the Vachons model of parenting because both of them see eye to eye over

doing the housework and this results in mutual understanding and living in full
harmony.

LANGUAGE

1. Purchase / save / goods /about / personally / might

2. 1+a/2te /3+c /4+D

3. wams / for /create /just/biggest / danger

WRITING
My dear parents . I’m really proud of you because thanks to your endless support and help ,
1 ‘m successful today. I feel too grateful towards you . Thank you for your everlasting love
and help. Thanks dad for affording me all what I need. Thanks mum for your advice. I wish
you all the best. -

CORRECTION OF EVALUATION ,wmmq, N° 8 (FINAL EXAM 2013)

READING COMPREHENSION

1.b

2. True / False

3. soft / fatness

4 ¢

LANGUAGE

1. time /saw /is / extinct/ forests /hunting

2. started / interesting / won / of / think / laugh

3. 14c / 2+a / 3+d / 4+D

WRITING

Dear readers,

I have lately noticed much violence among some pupils. They never abide by
the school rules. In fact, some of them violate their peers verbally and
physically. They bully, taunt and make fun of them. Thus, I would advise all
the pupils to respect the school rules and respect each other. Never tease your
friends. Besides, try to be more friendly and tolerant to each other. Instead,
concentrate on your studies and share the work together to build a stronger
relationship. Yours.

CORRECTION OF EVALUATION TEST N° 9 ( FINAL EXAM 2015)
COMPREHENSION QUESTIONS

1.b

2. afford / shouted

3. Plucked up courage

4. The writer felt upset at the teacher behavior. He was insensitive and cruel.

5. I agree with the writer’s opinion that the teacher was unfair, because he didn’t take
into consideration her social situation since she was unable to bring the ingredients.

II LANGUAGE

1. addicts / as /them / having / better / amount

2.1+ ¢/ 2+f/ 3+ a/ 4+ b/ 5+d

3. choice / for / owned / were moving / himself

III. WRITING

Dear readers,

I want to say that there are many people in our community who really need help.
Children, orphans, elderly ... suffer from destitution, homelessness, hunger and lack
of the necessary needs. You know that volunteering is a noble action. That’s why I
suggest joining the campaign that our school will organize next Sunday to visit a
small village where a poor family lives. We are supposed to raise money and collect
clothes, toys, games, food...We’d like to cheer up the children’s faces and give hope
to the poor. Please join in the campaign and make a difference. Yours










